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 Multiplication 3 by 2 (In Grid) - Matching Worksheet 

Write the letter of the answer that matches the problem. 

 
___ 

1. Multiplication 3 by 2 (In Grid). 
 
 
 
 

 7 8 6 
x  1 5 
    
    

 
a.  

 
4305 

 
___ 

2. Multiplication 3 by 2 (In Grid). 
 
 
 
 
 

 4 1 2 
x  2 9 
    
    

 
b. 

 
7912 

 
___ 

3. Multiplication 3 by 2 (In Grid). 
 
 
 
 
 

 8 9 0 
x  1 0 
    
    

 
c.  

 
11790 

 
___ 

4. Multiplication 3 by 2 (In Grid). 
 
 
 
 
 

 1 7 2 
x  4 6 
    
    

 
d.  

 
8900 

 
___ 

5. Multiplication 3 by 2 (In Grid). 
 
 
 
 
 

 1 0 2 
x  1 5 
    
    

 
e.  

 
11948 

 
___ 

6. Multiplication 3 by 2 (In Grid). 
 
 
 
 
 

 6 1 5 
x  0 7 
    
    

 
f.  

 
1530 

 

 


